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. Please check that this question paper contains 11 printed pages.

o Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

. Please check that this question paper contains 30 questions.
. Please write down the Serial Number of the question before attempting it.

® 15 minute time has been allotted to read this question paper. The question paper will
be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this

period.
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Time allowed : 3 hours Maximum Marks : 80
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(v) FAPAX F JINT F AT TET 8 |

General Instructions :

(i)  All questions are compulsory.

(ii)  This question paper consists of 30 questions divided into four sections — A, B, C
and D.

(iii) Section A contains 6 questions of 1 mark each. Section B contains 6 questions of
2 marks each, Section C contains 10 questions of 3 marks each. Section D contains
8 questions of 4 marks each.

(iv) There is no overall choice. However, an internal choice has been provided in four
questions of 3 marks each and 3 questions of 4 marks each. You have to attempt only
one of the alternatives in all such questions.

(v)  Use of calculator is not permitted.

30/1

g - H

SECTION - A

YA T 1 A 6T IAF IH 1 IH H1 8 |

Question numbers 1 to 6 carry 1 mark each.

Ifg x = 3, Tgamedra Fefiehtor x2 — 2kx — 6 = 0 &1 T HA &, A1 k 1 T HTd hiTaIT |

Ifx=

3 is one root of the quadratic equation x*> — 2kx — 6 = 0, then find the value of k.
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DI B B IWTST T 7T BIET H BIET WsT H&A1 %1 4.9, (HCF) F1 8 ?

What is the HCF of smallest prime number and the smallest composite number ?

s g P, ) 1 i 8 ) i

Find the distance of a point P(x, y) from the origin.

IS Th HHIAL A 1 A6 - (d) = — 4 TUT WIAal UG (a)) = 4 8, Al A 1 IUH 98 H1q

i |

In an AP, if the common difference (d) =4, and the seventh term (a,) is 4, then find the

first term.

(cos? 67° —sin? 23°) HT A FT R ?

What is the value of (cos? 67° — sin? 23°) ?

&%eT A ABC
fer 2 % AABC~APQR 2, aﬁPQ 3% ?ﬁmAPQR
ar A ABC
Given A ABC ~ A PQR, 1f PQ 3,then find ar A PQR -
gug -9
SECTION - B

9 GE&IT 7 9 12 dF Tk 99 2 3k H1 & |

Question numbers 7 to 12 carry 2 marks each.

F1d I |

feam 2 o6 <2 Tafer v B, o fag ifte 76 (5 + 3/2) T smfE s 2 |

Given that 4/2 1s irrational, prove that (5 + 3\5) is an irrational number.

3
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8.  3Mpld-1H, ABCD U A & | x YT y & HH T hiforC |

D Xty C
14 5t x—y
A 30 |t B
TR - 1
In Fig. 1, ABCD is a rectangle. Find the values of x and y.
D x+y C
14 cm X-y
A 30 cm B
Fig.— 1

9. 3% YW 8 VTSI 1 AN 1A hITT |

Find the sum of first 8 multiples of 3.

10. =8 U a Hie e fog P4, m), fgati A2, 3) @& B(6, -3) %I fieH =
@rEvg oI fquTird iaT 8 | 37d: m 1 0 J1d iy |

Find the ratio in which P(4, m) divides the line segment joining the points A(2, 3) and
B(6, -3). Hence find m.

11. < Tafe=T 911 1 Teh |1er Tl T3 | 71 % 31 < TTRehdT F1d i -
(i) s fgeh 3w |
(i) QI 9TEl T TS HE@ANSA 1 AN 10 AT |
Two different dice are tossed together. Find the probability :

(i)  of getting a doublet

(i1) of getting a sum 10, of the numbers on the two dice.

30/1 4
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12. 1 31 100 % stg 6 GEnsii § F Iigesar Uh G& I T8 | ikt I it i T8
=

(i) S8TWSTE |

(i) SHWSATHR |

An integer is chosen at random between 1 and 100. Find the probability that it is :
(1)  divisible by 8.

(i) not divisible by 8.

g - 4q
SECTION -C

9 TEIT 13 22 T T Y99 3 37 HI1 & |

Question numbers 13 to 22 carry 3 marks each.

13. 404 @7 96 %1 9.49. (HCF) T¥1 &.9. (LCM) T hiTerg a2 =1 T Hedma it :
HCF x LCM =g &1 T8 T3 ol 0%

Find HCF and LCM of 404 and 96 and verify that HCF x LCM = Product of the two
given numbers.

14, afe sgue (2 — 93 + 5x2 + 3x — 1) % & TAH (2 ++3) TUT (2 —~[3) & 1 56 wft
=¥ T ST |

Find all zeroes of the polynomial (2x* — 9x% + 5x% + 3x — 1) if two of its zeroes are
2 +4/3) and (2-/3).

15. afg A(-2, 1), B(a, 0), C(4, b) @& D(1, 2) Teh #iat 9q4s ABCD 3t foig &, at a e
b % T F7d <IFSTT | 374: 38 IS T o3t i wargat s Hifs |
HAYaT
G A(-5, 7), B(— 4, -5), C(-1, — 6) A1 D(4, 5) T FqHs ABCD o ¥ foig &, at =gl
ABCD 1 &5%eT 3T hifoTT |
If A(=2, 1), B(a, 0), C(4, b) and D(1, 2) are the vertices of a parallelogram ABCD, find
the values of a and b. Hence find the lengths of its sides.
OR

If A(-S, 7), B(-4, —-5), C(—1, —6) and D(4, 5) are the vertices of a quadrilateral, find the
area of the quadrilateral ABCD.
30/1 5 [P.T.O.
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Teh AT 3 Fuifa 999 | 30 fime < foems | =@ | 1500 foreamfiet 1 gt o ot
e T dieh THY W UgE- o To¢ 38 3791 HH 91 sl 100 fob. Hl. /g1 S@MT 9T |
ST 61 W= =T 1 HIT |

16.

17,

18.

19.

30/1

A plane left 30 minutes late than its scheduled time and in order to reach the destination
1500 km away in time, it had to increase its speed by 100 km/h from the usual speed.

Find its usual speed.

foag <hifore fop foreft ant <t wep Yo W &A1 T TwaTg Byw 1 &Fwd, 38k fael
AT 7T GHETE BIt o SFHe 1 STET BT # |

YT
I < guEd el o &% 99 @, a1 fiag Hifae f6 a8 Hys aatmam gid € |

Prove that the area of an equilateral triangle described on one side of the square is equal

to half the area of the equilateral triangle described on one of its diagonal.
OR

If the area of two similar triangles are equal, prove that they are congruent.

forg SifSe o6 v wrer foig @ 91 o wfi=h 78 wae -t 1 wamgal sust g 2 |

Prove that the lengths of tangents drawn from an external point to a circle are equal.

4sinB+cosB—1

Jfe4tan 0=3 %, al (43"19_0059“) T HE 19 IS |

YAl

Ife tan 2A = cot (A — 18°), T&T 2A Ush =7 IVl &, &l A T HH H1d <hIFT |

4sin9—c059+1j

lf4tan9 = 3’ evaluate (4 Slne + cos 9_ 1

OR

If tan 2A = cot (A — 18°), where 2A is an acute angle, find the value of A.

6
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20. 3THfa-2 H BTIfRa W 1 &% [1d shifae | &f a7 ABCD o 3fiui A, B, C @21 D !
5 T R G T =7 ST AB, BC, CD T DA % Ay fagaii shaw: P, Q, R« S
T GI-¢l o STl # shied! & aur ot Y g1 12 3 8 | [n=13.14 =fifsg)

Find the area of the shaded region in Fig. 2, where arcs drawn with centres A, B, C
and D intersect in pairs at mid-points P, Q, R and S of the sides AB, BC, CD and DA
respectively of a square ABCD of side 12 cm. [Use = 3.14]

Y @, o

21. el % Ush 31 dctH o Jeeh fot X Ush 378 et @ig L fHehlerd U, Ueh % &418 T8,
St fop 3mmepfa-3  qutar @ | Afe Se 6 S 10 Tt @ 3 snam 6 freen 3.5 &t
2, 1 39 I 1 Tyt ISl BErhet 3Td hifsre |

Z
7,

3Tepid — 3
HAYAT

T Shi Teh L 15h o ST <hl & ToTeeh STTHT 3T SATH 24 Hi qu1 418 3.5 W & | Fraat
1 3T Fd HIT | 38 &8 1 T-T & o 70 fohae shas it sraweha 2 ?

30/1 7 [P.T.O.
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A wooden article was made by scooping out a hemisphere from each end of a solid
cylinder, as shown in Fig. 3. If the height of the cylinder is 10 cm and its base is of
radius 3.5 cm. Find the total surface area of the article.

Z
20

Fig. 3
OR

A heap of rice is in the form of a cone of base diameter 24 m and height 3.5 m. Find
the volume of the rice. How much canvas cloth is required to just cover the heap ?

22, = < 8 wfeft | 280 S T SaH A ST TR

a9 (BIR I H) | SR hl T@
5-10 49
1015 133
1520 63
20 —25 15
2530 6
30 —35 7
3540 4
40 — 45 2
45 —50 1

YU FTehel H AT dd4 HH I1d <hIfa |

The table below shows the salaries of 280 persons :

Salary (In thousand X) | No. of Persons
5-10 49
10-15 133
15-20 63
20-25 15
25-30 6
30-35 T
35-40 4
40 — 45 2
45 —-50 1

Calculate the median salary of the data.
30/1 8
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SECTION-D

9 G&AT 23 § 30 I Yk Y9 4 3H HI 2 |

Question numbers 23 to 30 carry 4 marks each.

23. U ORI~ el fer 9 8 =t 18 forfi/eer 7, 24 ferermiet e & wfieget oM 4, w&l
Sl YT o ST ST ohi 3TU&T 1 5T 3AT%eh ol & | 9T <hl =1eA 311l ShifT |

37T
us el forelt siea =re & 63 ol it gft au et 2 e 3ue wg 72 feedt gl g

3ivea =re 9§ 6 foprt/eren sifers i =ret @ 7 et 2 | ol 9T @ U S | A 3 6 @
&, 1 uet 3ired = 3 T |

A motor boat whose speed is 18 km/hr in still water takes lhr more to go 24 km
upstream than to return downstream to the same spot. Find the speed of the stream.

OR

A train travels at a certain average speed for a distance of 63 km and then travels at a
distance of 72 km at an average speed of 6 km/hr more than its original speed. If it
takes 3 hours to complete total journey, what is the original average speed ?

24. Uk GHIE Ul & IR HAFT Yel hl TS b1 1T 32 2 9971 Ugdl 3R gl 9@ &+
U 3T S i § FET3 o [UH%S & 3 7 : 15 8, TEATE F1d i |

The sum of four consecutive numbers in an AP is 32 and the ratio of the product of the
first and the last term to the product of two middle terms is 7 : 15. Find the numbers.

25. U HuaTg fA9s ABC H 491 BC W U fog D 30 YR 8 6 BD=%BC% | g o o6
9(AD)? = 7(AB)?
reET
forg <hifsre op, weh wwenivr st  <hof ot anf 919 €1 ST o6 ST o FFT o SRR BT © |

30/1 9 [P.T.O.
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26.

s

28.

30/1

1
In an equilateral A ABC, D is a point on side BC such that BD = 3 BC. Prove that
9(AD)? = 7(AB)?
OR

Prove that, in a right triangle, the square on the hypotenuse is equal to the sum of the

squares on the other two sides.

us st ABC w3 foted BC = 6 @ft, AB = 5 @fi 3fk ZLABC = 60° & | fRt us s
<6 e fore, Rt 9o A ABC o1 6 st 1 5 T

Draw a triangle ABC with BC = 6 cm, AB =5 cm and ZABC = 60°. Then construct a

3
triangle whose sides are Py of the corresponding sides of the A ABC.

sin A — 2 sin® A
2cos’A—cos A

mw:

=tan A

sinA-2sin A
2 cos’ A —cos A

Prove that : tan A.

3 % fe5=1eh o ITHR I T dTeel o (gt aUT JU FohRi o =9 AT 10 T a
30 81 B | Ife s1edt F1 =g 24 T R, 1 Sa Hifse

(i)  ST< st S H o dTeft arq sl 3fie 1 S |
(i) STee! S H HH AT i 991 Tal iTHT 91f8e ? [ = 3.14 ofifg]

The diameters of the lower and upper ends of a bucket in the form of a frustum of a

cone are 10 cm and 30 cm respectively. If its height is 24 c¢m, find :
(i)  The area of the metal sheet used to make the bucket.

(i)) Why we should avoid the bucket made by ordinary plastic ? [Use n =3.14]
10
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29. HHZ-AA 100 Hi el ATS-T3H o FIREK ¥ @ W G TGN 8Tl o TSTHA i 30°
3 45° & | Ife TTge-ETSH % U A 3R TH STET R TES o ik WD &, A I @i
& ofta i gt 1 AT | (/3 = 1.732 #fifd)

As observed from the top of a 100 m high light house from the sea-level, the angles of
depression of two ships are 30° and 45°. If one ship is exactly behind the other on the

same side of the light house, find the distance between the two ships. [Use \ﬁ = 7132}

30. s A 1828 | 991 19 — 21 <l SRERAT £ 371d hifou -

Tt 11-13 [ 13-15 [ 15-17 [ 17-19 [ 19-21 [ 21-23 | 23-25

TREAT 3 6 9 13 f 5 4
FYET

e e fopelt St & 50 =il st 2fes s eeriaT 2

e o 3 9) 100—120 | 120140 | 140—160 | 160— 180 | 180 —200

HHATET 6H F& 12 14 8 6 10

I9d 52 %l Ueh H T o =] SNl s 8§ Sefeid 1R 35! dior gifau |

The mean of the following distribution is 18. Find the frequency f of the class 19 — 21.

Class 11-13 | 13-15 | 15-17 | 17-19 | 19-21 | 21-23 | 23-25
Frequency 3 6 9 13 i 5 4

OR

The following distribution gives the daily income of 50 workers of a factory :

Daily Income (in ) 100-120 120-140 140-160 160-180 180-200
Number of workers 12 14 8 6 10

Convert the distribution above to a less than type cumulative frequency distribution

and draw its ogive.

30/1 11



